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REARRANGING FORMULAE

TWO-STEP PROBLEMS

Al Make x the subject of
p=mq+nx

A2

Make x the subject of
a=wxy+ pq

A3

Make x the subject of
a=x(a+b)—bc

A4 Make x the subject of

T
pP= q
m+n

B1 Make x the subject of

B2

Make x the subject of

X .
t=—+3n"
ab

B3

Make x the subject of

RoX=P4
3a

B4 Make x the subject of

ll1+a= x,+b
2m”

C1 Make x the subject of

5

h=kx~

C2

Make x the subject of

p=7

C3

Make x the subject of

Jx

m=—
4

C4 Make x the subject of

W=u\/;

D1 Make x the subject of

e=

il
5

D2

Make x the subject of

D3

Make x the subject of

f=vax

D4 Make x the subject of
n=(x—-6)

E1 Make x the subject of

2
X+n

m=
m

E2

Make x the subject of

\/;-Fx

ab

E3

Make x the subject of
_x+p
ptq

E4 Make x the subject of

a=x(a+b)+b
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REARRANGING FORMULAE

TWO-STEP PROBLEMS

Ref: ('i3-ll.2 E 1

Al Make x the subject of A2 Make x the subject of A3 Make x the subject of A4 Make x the subject of
p=mq+nx nx = p-mq a=wxy+pq WXy =a-—pq a=x(a+b)—bc p= X +q X —p-q
m+n m+n
e L g earbe be
n wy Xa+o)=a+oc EE. x=(p-q)m+n)
B1 Make x the subject of B2 Make x the subject of B3 Make x the subject of B4 Make x the subject of
Sa+x ’ X » X X—pq x
= 5a+x=b"Q t=—+3n" —=t-3n R=—+= X —joq = 3aR 1l+a= +b
Q B ab ab 3a Pd 2m’
x=b*Q-5a X = ab(t -3n?) X =3aR + pq x=2m*(11+a-b)
C1 Make x the subject of C2 Make x the subject of C3 Make x the subject of C4 Make x the subject of
] = kxz p— x_z 2 — —
h p= = X =7p m=£ \/;:Hm w u\/; X
T ' x=4[7p x=H"m)* or x=16m" o u
D1 Make x the subject of D2 Make x the subject of D3 Make x the subject of D4 Make x the subject of
\/; == ¢’ p=—2—  X'=pla-7) f =+ax ax = n=(x-6 x-6=vn
€=Alz g a-17 .
5 5 f?
x=5a x=4pla-7) i x=vn+6
E1 Make x the subject of E2 Make x the subject of E3 Make x the subject of E4 Make x the subject of
m=x+n' PR R a_\/;+x \M+x:a’b =x++p" X+ p? = p(p +q) a=x(a+b)+b
m - ptq
ab
— x=p(p+q)-p a-b
X=m"-n° x=a’b-+n P x(a+b)=a-b X:a+b

=pPq
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